Apex Enclosure COMPULNCKS

Assembly Instructions

1

FOLLOW STAND
MOUNTING INSTRUCTIONS
(SUPPLIED WITH STANDS)

WALL MOUNTING
(SCREWS NOT PROVIDED)

2

ROTATE 90°

:

/

PRESS TO LOCK

IN THE BOX

e

Apex Enclosure Keys

z ]

©Compulocks Brands Inc. All Rights Reserved www.compulocks.com | online@maclocks.com | +1800-948-0344 Sheet 10f 1



Swell Enclosure

Assembly Instructions G 0 M PU I-r] G KS

1

Or

FOLLOW STAND
MOUNTING INSTRUCTIONS
(SUPPLIED WITH STANDS)

T o * ‘ll
. |/- ~\\'_D;;T\\\
/L/ “”"ﬁ WALL MOUNTING
(SC

REWS NOT PROVIDED)

—

Arv"e °
B
.,‘70 o
SECURE WITH
M3 SCREWS (PROVIDED) L/ L/
IN THE BOX
o) Bl =

s

Torx Screwdriver

M3x10mm tamper proof screws
©Compulocks Brands Inc. All Rights Reserved

Swell enclosure
www.compulocks.com | online@maclocks.com | +1800-948-0344 Sheet 10f 1



Space — compulocks

Assembly Instructions

| | : or e

FOLLOW STAND WaALL MOUNTING SCREWS

MOUNTING INSTRUCTIONS

NOT PROVIDED

Press to lock

|

——

—

ECompulocks Brands Inc. All Rights Reserved, www.compulocks.com | online@maclocks.com | +1 B0D-948-0344 Sheet 1 of 1



Rise Freedom Extended Medical Rolllng Cart sku:mcrstoexw

Assembly Instructions

COMPULNCKS

1 PLACE CASTER ASSEMBLY ON FLOOR WITH CASTERS FACING UPWARDS 4 B
TIGHTEN USING
TORX WRENCH PROVIDED
M6 x 12mm BUTTON ( CASTER ASSEMBLY WITH },
HEAD TORX SCREW s SEVEN (7) HOLES ) INSTALL
UPPER ASSEMBLY
CASTER ASSEMBLY WITH (IF INSTALLING
SIX(6)HOLES SHELF
INSTALL NOW)
LOOSEN TO INSTALL
i — UPPER ASSEMBLY __
TIGHTEN AFTER
INSTALLATION
/LOWER TUBE AT DESIRED
WORKING HEIGHT
LOWER TUBE «|  TIGHTEN USING
COVER TORX WRENCH .
\ PROVIDED °
b >N
M6 X 16mm 4 *L TIGHTEN SCREWS .
TORX SCREWS\A'l ] /
<2

©Compulocks Brands Inc. All Rights Reserved

N/

12" .
304.8mm

==

60"
152.4cm

43.4"
110.2cm

www.compulocks.com | online@maclocks.com | +1800-948-0344

Sheet10of 2



Rise Freedom Extended Medical Rolllng Cart sku:mcrsToexw G 0 M PU I_r] G KS

Assembly Instructions

INSTALL YOUR TABLET ENCLOSURE ADJUST TILT / TENSION
AS SHOWN USING M4 SCREWS
PROVIDED WITH RISE FREEDOM

6 7 8

EXTENDED ROLLING STAND

WIRE PASS THRU
FROM ENCLOSURE

i
WIRE INLET
IN UPPER TUBE ASSEMBLY
WIRE OUTLET/"[.]
FOR POWER MODULE IF MOUNTING TO A MONITOR LOCKING THE CASTER

OPTIONAL WIRE OUTLET REMOVE M4 PRESS IN NUTS

IN THE BOX ACCESSORIES
L 24
v W, e
¥ 5%
Hardware Kit Keyboard / Writing Shelf Kit Power Module Kit ~ Accessory Basket Kit JBL GO 2 Speaker Single Add On

Bracket Bracket Kit

©Compulocks Brands Inc. All Rights Reserved www.compulocks.com | online@maclocks.com | +1800-948-0344 Sheet 2 of 2



